PE II Model Exam Question Papers




Answer ALL Questions:

QUESTION 1:










   15 Marks
a. Flower, Dare & Strong were in partnership trading under the name of Flower & Co. and sharing profits & losses in the ratio of 3:2:1. The following credit balances appeared in the firm's Balance sheet as on 31st December, 2002:






   

	Particulars
	Flower
	Dare
	Strong

	Capitals

Current A/c
	1,80,000

12,000
	1,20,000

12,500
	60,000

8,000


Interest at the rate of 5% p.a. on capitals was credited to partners' current accounts. No interest was charged on drawings. Dare was paid a salary of Rs.600 per month. The Partnership Deep provided that on the death of a partner, his personal representatives should be entitled to receive, in addition to the sums standing to his credit as shown in the last Balance Sheet preceding his death as reduced by any subsequent drawings: 

1. Any salary and interest on capital from the date of the last B/S to the date of his death.

2. A further 10% p.a. on his capital for the same period in lieu of his share of profits, and

3. His share of the total partnership goodwill, the latter being calculated at two years purchases of the average profits (before charging partners' salaries and interest on capital) for the three years ended on the date of the last Balance Sheet preceding his death. 

4. The remaining partners were to purchase such share of goodwill in the proportions in which they shared profits. 

5. The balance due to the deceased's estate at the date of his death was to be paid in four equal installments, the first installment to be paid one month after death and the other three installments at six monthly intervals from that date, together with interest on the remaining balances at the rate of 8% p.a. from the date when the first installment became due. 

Dare died on 31st May, 2003 and the first two installments due to his estate were paid on the dates when they were due. The Partnership profits (before charging interest on capital and Dare's salary) were: 2000: 23,000, 2001: 50,000, 2002: 35,000 & 2003: 56,000. Dare's drawings (including salary) for the five months preceding his death amounted to Rs.5,000. 

Prepare the account of Dare and his personal representatives in the firm's books from 1.1.2003 to 31.12.2003. Also show an account showing allocation of the profits for the year ended 31.12.2003.











b. A Company’s current year profit is Rs.70,000 after incorporating the following:
     5 Marks
	Particulars
	Amount
	Particulars
	Amount

	Loss on sale of equipment

Premium of Red. Of Debentures

Discount on issue of Debentures

Depreciation on Machinery

Depletion of natural resources

Interim Dividend
	9,000

1,500

2,000

20,000

10,000

25,000
	Gain from sale of Assets

Provision for Tax

Dividend Income

Transfer to general reserve 

Preliminary Expenses

Profit on revaluation

Loss on sale of investment
	40,000

22,000

4,000

5,000

1,000

2,500

1,000


Find out Fund from operations.









QUESTION 2:

a. London Branch of Delhi Export House sent the following T.B. as on 31.12.2001.
15 Marks
	Particulars
	Dr.
	Cr.

	Fixed assets

Loan (taken to purchase of fixed assets)

Depreciation

Stock 1-1-2001

Goods from H.O.

Sales

Salaries & Wages

Interest

Cash & Bank

Debtors

Head Office A/c
	17,500

2,500

8,200

58,800

15,200

2,880

1,700

21,200
	13,000

1,05,200

9,780


Fixed assets were purchased on 1-1-99 when 1 ₤ = 25.50, life was estimated to be 10 years. To finance the fixed asset a loan amounting to ₤.22,000 was taken @ 18% interest p.a. Annual loan installment of 3,000 & interest were payable in every December.

Exchange Rates:
	Average of 1999

On 31.12.1999

Average of 2000

On 31.12.2000

Average of 2001

On 31.12.2001
	₤ 1 = Rs. 25.70

₤ 1 = Rs. 26.10

₤ 1 = Rs. 26.20

₤ 1 = Rs. 26.40

₤ 1 = Rs. 36.50

₤ 1 = Rs. 42.10


In the Head Office books London Branch A/c appeared as follows:

London Branch A/c

	Particulars
	₤
	Rs.
	Particulars
	₤
	Rs.

	To Balance b/d

To goods 

To P&L A/c

     Exchange gain
	7,000

58,800

-

-
	1,84,800

21,46,200

1,26,446


	By Bank

By Balance
	56,020

9,780


	20,44,730

4,12,716


i. Closing Stock: ₤ 2,400. 

i. You are required to show Branch fixed assets A/c., Branch Loan A/c., Branch Trail balance in Rupee terms, Branch P & L A/c, Adjustment Entries to incorporate branch balances in the H.O. Books.
b. A enters into a contract with B Ltd., to underwrite its 5,000 shares of Rs.10 each in consideration of 5% commission. He also enters into an agreement with C to sub-underwrite 1,000 shares of B Ltd. at a commission on 3%. The public subscribes for 2,000 shares only and subsequently shares were taken up by A, who sold his shares @ Rs.9 per share. The shares taken up by C were sold @ Rs.10 per share. Expenses of underwriting amount to Rs.600. Prepare Underwriting A/c in the books of A.






      5 Marks
QUESTION 3:

From the following figures relating to the Cosmopolitan Life Insurance Company Ltd. Prepare its Revenue A/c for the year ended 31st March, 2003 & a Balance Sheet as on that date:
    16 Marks
	Particulars
	(Rs. in ‘000s)

	Shareholders’ Capital

2,00,00,000 Shares of Rs.25 each, Rs.10 per share paid-up

Claims under policies & o/s less received on Re-assurance

Life Assurance fund on 1st April, 2002

Investment fund on 1st April 2002

Expenses of Management 

Investments

Freehold & Leasehold Property

Unpaid Dividends

Outstanding Premiums (Net)

Claims admitted or intimated, but not paid

Outstanding Interest

Surrenders

Annuities

Premiums less Re-assurance

Consideration for annuities granted

Bonus in reduction of Premiums

Gain on redemption of Debentures

(to be carried to Investment Reserve Fund)

Interests, Dividends and Rents received

Interests accrued

Income-tax

Transfer & other fees

Agents’ Balances Outstanding

Furniture & Fittings

Loans on the Company’s Policies within their surrender value

Cash in hand & at Bank

Stamps in hand

Cheques paid into Bank & in course of realisation

Cheques issued but not presented for payment

Sundry Creditors

Premium received in advance

Commission paid

Income tax on interest & dividends
	2,00,000

45,00,000

4,80,00,000

50,00,000

15,00,426

5,10,00,000

25,00,000

51,790

6,03,200

30,00,000

5,90,000

2,58,950

30,000

75,00,000

50,500

4,000

20,000

32,00,336

3,17,000

2,80,148

6,430

1,45,904

90,500

49,00,000

3,64,000

7,322

49,000

66,520

44,874

1,00,000

1,00,000

1,20,000


QUESTION 4:










   16 Marks
Indebted Ltd issued 10% debentures at par for 8 lakhs on 1-1-75. Interest was payable half yearly on 30th June and 31st December every year. Under the terms of the trust deed, the debentures are redeemable at par (after three years of issue) by the company purchasing them in the open market and canceling them in the open market and canceling them with a minimum redemption of Rs.80,000 every year.

In case there was a short fall in redemption by the company by open market operations, the shortfall would be made good by the company by payment on the last day of the accounting year to the trustees who would draw lots and redeem the debentures. 

The company purchases its own debentures for cancellation as under:

	On 30-9-1978

On 31-5-1979

On 31-7-1980
	Rs.1,00,000  @ Rs.98 cum-interest

Rs.   60,000  @ Rs.95 ex-interest

Rs.   90,000  @ Rs.96 cum-interest


The Company carried out its obligations under the deed. Prepare the following ledger accounts for calendar years 1978, 1979 & 1980: (a) Debentures account (b) Debentures Redemption A/c & (c) Debenture Interest A/c & Ignore taxation.





               
QUESTION 5:










   12 Marks
Renters Ltd. entered into a hire purchase agreement with Owners Ltd. for the purchase of 100 wagons over a period of three years from 1st January, 2001 by half- yearly installments of Rs.7,385 payable  on 30th June and 31st December each year, the cash price being Rs.400 per wagon and the rate of interest 6 per cent per annum  with half- yearly rests.  

On 1st January 2002, after paying two installments, Renters Ltd. transferred their rights in the agreement to Assignees Ltd. with the prior approval of Owners Ltd. for a consideration of Rs.10,000 Assignees Ltd. paid this sum to Renters Ltd. on 1st January, 2002 and the next installment to Owners Ltd. on the due date. 

Show in the form of Journal entries how the transactions should appear in the books of Assignees Ltd. up to 30th June, 2002 when its financial year ended, writing off depreciation at the rate of 10 % per annum.










    

QUESTION 6: Answer any four of the following:





    4 x 4 =16

a. The Company’s plant & machinery was Rs.3,000 lakhs as on 1.4.2001. It provided depreciation at 15% p.a. under WDV method. However it noticed that about Rs.500 lakhs worth of imported asset, which is component of above plant & machinery acquired on 1.4.2001, would be obsolete in 2 years. Company wants to write off this asset over 2 years. Can Company do so?

b. What are the conditions to be satisfied to become Merger?

c. A Ltd. Incurs a fixed production overhead of Rs.10,00,000 every year. Its normal capacity of production is 1,00,000 units. In the year 2001, 80,000 units were produced and in 2002, 1,20,000 units were produced. Calculate the production fixed overhead allocated to each unit in each of these years.

d. What are the Criterias for identification of Reportable Segments?

e. Happy Ltd. is a Manufacturing Co. in durable consumer goods with an annual turnover of Rs.1,000 lakhs. The Company received orders from its commission agents all over the country, but goods are dispatched directly to the customers. The documents including Transport bills are sent through the bank for collection. At the end of 6th year, it is found that documents covering the dispatch of goods worth Rs.100 lakhs were still lying with the banks not cleared by the customers though normal collection period of 20 days has expired. Should Revenue be recognised?

f. Xerox Ltd. had outstanding Equity shares 50,00,000 on 01.01.2002. Net profit for the year is Rs.1,00,00,000. Xerox Ltd. had 12% 1,00,000 convertible debentures outstanding of 100 each to be converted into 10 equity shares. Tax rate is 30% Calculate (i) Basic BPS (ii) Diluted BPS.

ALL THE BEST

Answer Questions 1 & 2 and any four from the rest:

QUESTION 1:

State with reasons your views on the following:





   6 x 3 = 18

a. You are appointed as the auditor of space Travels Ltd. for audit fees of Rs.15,000. You purchased air ticket from Bombay to madras valued for 3,500 from them and the amount remains unpaid at the end of the year. Comment.

b. A firm of chartered accountants was appointed as auditor of a company and one of the partners of the firm was holding shares in that company. However the auditor report was signed by another partner of the firm. Will your answer be different if a relative of the partner was holding the said shares?

c. The premises of ABC Private Ltd. were raided by the income tax authorities on 15-12-1997. All accounting and statistical records were seized by the department. The company managed to obtain photo copies of cash book and ledger only.  The records of the remaining period after the raid up to the date of closing accounts i.e. 31-3-1998 were complete. You are the statutory auditor of ABC Private Ltd. Comment.

d. Marriage expenses of Managing Directors daughter amounting to Rs.25 lakhs have been charged to P & L A/c. Comment.

e. A company has scrapped a semi automatic part of a machine (not entirely written off) and replaced with a more expensive fully automatic part, which has doubled the output of the machine. At the same time the machine was moved to a more suitable place in the factory, which involved the building of a new foundation in addition to the cost of dismantling and re-erection. The company wants to charge the expenditure to revenue.

f. S Ltd. has issued debentures, which has been guaranteed by the Government of India both as to the repayment of the principal and interest. The company disclosed the same as “Secured Loans” in their Balance Sheet.

QUESTION 2:

State with reasons your views on the following:





   6 x 3 = 18

a. A company does not make provision for gratuity payable to its employees, instead, it accounts for gratuity at the time of actual payment.

b. A company has a branch office, which recoded a turnover of Rs.1,99,000 in the current year. The auditor’s report of the current year had no reference regarding the branch although, the branch audit has not been carried out by the statutory auditor.

c. The company has charged depreciation on straight line method while computing net profit for the determination of managerial remuneration for the year ended 31.3.2002.

d. The company under audit borrowed funds for construction of a new plant. The work was completed and the plant was ready to be put to use on 28th February, 1999. The Company capitalised the interest on borrowed funds for the period up to 31st March, 1999.

e. Bills discounted aggregating to Rs.1,00,000 not exhibited in accounts as the maturity date falls in the subsequent year. Comment.

f. Method of valuing inventory was changed from FIFO to LIFO, resulting in under-valuation of inventory. Comment.

QUESTION 3:

a. Distinguish with the suitable example between a case where an Auditor is Obliged to state in his report to the member of a Company that the accounts do not show a true and fair view, and a case where he states that he is not unable to form an opinion as to whether or not the accounts give a true and fair view.








      6 Marks
b. Write about AAS-5. 








    10 Marks
QUESTION 4:

Write about the controls in an EDP environment?





 1 x 16 = 16
QUESTION 5:

Write short notes on the following: 






   4 x 4 = 16

a. Vouching of sale of investments.
b. Verification of Plant & Machinery.

c. Verification of Provision for Depreciation.

d. Cut-off procedure.

QUESTION 6:










   2 x 8 = 16

a. What Special steps are involved in conducting the Audit of an Educational Institution?

b. Write about the Audit of Government Expenditure?

QUESTION 7:

a. What are the precautions to be taken before applying Test Check?


      5 Marks
b. Write about Letter of Engagement?






      6 Marks
c. What do you know about Secret Reserve?





      5 Marks
QUESTION 8:

Write short notes on any four of the following:





   4 x 4 = 16

a. Director’s responsibility Statement.
b. Cost Audit.
c. Compliance procedures Vs. Substantial Procedures
d. Change in Accounting Policies.
e. Letter of Weakness.
ALL THE BEST 


Question 1 and 7 are Compulsory and answer any three questions out of questions 2,3,4,5 and 6 and two questions out of questions 8, 9 and 10.

QUESTION 1: Answer any six of the following:





   6 x 4 = 24

(a) Explain the concept of ‘Misrepresentation’ in matters of contract.


Sohan induced Suraj to buy his motorcycle saying that it was in a very good condition. After taking the motorcycle, Suraj complained that there were many defects in the motorcycle. Sohan proposed to get it repaired and promised to pay 40% cost of repairs. After a few days, the motorcycle did not work at all. Now Suraj wants to rescind the contract. Decide giving reasons.

(b) What are the privileges available for Holder in due course?

(c) Dipali bought a colour TV from M/s Kaka Enterprises for a sum of Rs.9,000. The TV set was defective right from the beginning and it did not work inspite of repairs by the expert mechanics. Dipali wants to return the TV set to M/s Kaka Enterprises and claim refund. Advise.

(d) A & B, Co-owners of a house, let it to a paying guest. They divide the net rents between them. Are they partners?

(e) An employer had been paying to his employees every year at the time of Deepawali one Month’s basic wages as Deepawali Bonus for the last 10 years, in addition to the bonus payable under the Payment of Bonus Act, 1965. The bonus had been paid even in those years when there were losses. The employer now wants to adjust Deepawali Bonus paid by him for the current accounting year against the bonus payable by him under the Act, for the current accounting year. State with reference to the provisions of the Payment of Bonus Act, 1965, whether it is possible for the employer to make the above adjustments.

(f) Who can be a member of the multi-State Co-Operative Society?

(g) What are the establishments Exempted under the Employees Provident Fund Act?

(h) A is a member of a cooperative society registered with the unlimited liability under the Cooperative Societies Act, 1912. Holding shares of the society for ten months, A transfers his shares to B. Decide whether transfer of shares in favour of B is valid?

QUESTION 2:










6 x 2 = 12

(a) State the essential elements of a valid contract?

(b) Write about the Doctrine of Caveat Emptor?

QUESTION 3:










6 x 2 = 12

(a) Briefly discuss the Duties of Bailee?

(b) Can a minor be admitted into partnership? What are the legal provisions relating to admission of minor?

QUESTION 4:










6 x 2 = 12

(a) What are the circumstances under which the Banker must refuse payment on his customer’s cheques?

(b) Write about Set on & Set off Provisions under payment of Bonus Act?

QUESTION 5:










6 x 2 = 12

(a) What are the establishments to which employees provident fund Act applies?

(b) Under what circumstances the suppression of board will be done under the Multi state Co-operative societies Act, 2002?

QUESTION 6










6 x 2 = 12

(a) Where may a Co-Operative Society Invest its Funds?

(b) What are the penalties prescribed under the Negotiable Instrument act in case of dishonour of a Cheque for insufficiency of funds in the account of the person issuing the Cheque? (or) Bouncing of cheques?

QUESTION 7: Answer any four of the following:

  



   4 x 5 = 20

(a) Define Private Company?

(b) Write about Doctrine of Indoor Management?

(c) What are the conditions to be satisfied for getting certificate of commencement of business?

(d) Write about the contents of the notice given to the general meeting? 

(e) Write about the provisions relating to alteration of articles of association?

QUESTION 8










2 x 5 = 10

(a) BS & Co. Ltd. is registered as a Public Limited Company. The shareholding pattern of the Company is under.

	Category
	Rs.

	Directors & their relatives

Employees

Ex-employees (shares were allotted when they were employees)

Six couples holding shares jointly in the names of husband and wife (6 x 2)

Others

Total:
	36

18

09

12

06

	
	81


The Board of directors of the Company proposes to convert it into a private Company. 

(b) ABC (Pvt.) Ltd. was incorporated in 10th June, 1996. A similar Company with identical name and same objects was also incorporated on 10th June1997. ABC (PVT.) Ltd. came to know about this and filed a petition on 10th January, 1998. Explain the remedies available to the first Company. 

QUESTION 9










2 x 5 = 10

(a) Reduction of Share Capital Vs. Diminution of Share Capital.

(b) Share Certificate Vs. Share Warrant

QUESTION 10










2 x 5 = 10

(a) As an auditor state your view - During the year under audit, Z Ltd., credited to the Profit & Loss A/c the entire profit of Rs.20,00,000 on the sale of land not required for its use. You are informed that the directors would like to propose dividend out of the above profit.

(b) Write about Shelf Prospectus?

ALL THE BEST 
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